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: This paper contains FIFTY (50) multiple-choice matching questions, each

question carrying TWO (2) marks. Attempt All the questions.
2l Haetul YR (vo) ewgfselly wsdl, wig-vilg A Assl orticaunl uadl
8. It WAL Fdel avial 9. uds a4 () 9@ B,

Bread is cooked by :

(A) Dry heat

(B) Moist heat

(C) Dry and moist heat
(D} Magnetic heat

100 ppm is equal to :
(A) 1000 mg/kg

(B) 0.1 g/kg

(C) 100 mg/100 g

(D) 100 g/kg

Glucose molecules in starch are

linked by :

(A) 1-6 glycosidic linkage

(B) 1-4 glycosidic linkage

(C) 1-4 and 1-6 glycosidic linkage

(D) Hydrogen bhond
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Wheat contains mainly :

(A) Water soluble proteins

(B) Alcohol soluble proteins

(C) Water insoluble proteins

(I} Chloroform insoluble proteins
Plant oil contains :

(A) Vitamin C as an antioxidant
(B) Vitamin E as an antioxidant
(C) Vitamin A as an antioxidant
(D) Vitamin D as an antioxidant
Protein content is the highest in :
(A) LDIL cholesterol

(B) HDL cholesterol

(C) IDL cholesterol

(D) VLDL cholesterol
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Highest protein intake per kg of
body weight is required during :
(A) Infancy

(B) Adolescence

(C) Pregnancy

(D) Lactation

Adult

male suffering from

diabetes :

sl Gaiun alaui ag-, Wl
ALYl agy A3RUA

@

(B)
(&)
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[higaral e cly 8
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Yedad-dl Yad 3 A uguide-dl dt
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(A) should take minimum 200 g (A) ddl ~ran siefwisge 200

carbohydrate/day WH/BAA 49 A
(B) should take minimum 400 g (B) dd «y-ad stolelsge 400
carbohydrate/day wHflean Aag AsA
(C) should take minimum 50 g (C) 4’ ~yrau swuleisge 50
carbohydrate/day: wn/lean Ad ASA
(D) should take minimum 100 g D) d& ~yedy sefelsde 100
carbohydrate/day an/flean aq AdA
9. In fever, BMR is increased by : 9. did eRuUA oflBlNMR (BMR) :
(A) _10% | (A) 10% 44 &
(B) 25% (B) 25% df &
©) % (C) 7% <8 B
O 15% D) 16% ad &
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10.

11.

12.

State which has the lowest IMR : 10.

(A) Gujarat

(B) Punjab

(C) Kerala

(D) West Bengal

While planning menu for geriatric  11.

institutions consider :

{A) Kind of equipment available
(B) Season of the year

(C) Knowledge of employed help
ease of

(D Nutrition a.nd

digestibility of food

The method of service where food 12.

is displayed and the guests have to

help themselves is termed as :
(A) Cafeteria Service

(B) Counter Service

(C) Buffet

(D) Banquet Service
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b amd

13.

- 14.

15.

The key managerial function of a  13.

hotel housekeeping department is :

(A) Welcoming the guests

(B) Co-ordinating the activities of

the whole institute

(C) Only to clean the rooms and

premises

(I) To train the staff inducted

In remand homes for delinquent 14.

children one requires :
(A} Counsellor

(B) Doctor

(C) Policeman

(D) Social Worker

Line chart of an organization . 15,

shows :

(A) Job specification of the staff
(B) Communication pattern

{C) Hierarchy of tﬁe staff

(D} None of the abhove
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16. Horizontal creases along the sleeve g

means it is :

(A) Too tight
(B) Too loose
(C} Well fitted

(D} None of the above

17. A Princess line goes from : 17.

(A) Shoulder to shoulder

(B) Across waist

(C) Across chest

(D) Shoulder to waist

18. Conformity to peer group is 18.

extremely important to :
(A) Infants

(B) Middle aged

(C) Teenagers

(D) Adults

Home Science-I1 8

ol &3d ISl U giy A-dl wf
(A) sl usg da

(B) dal? usd 44

(C) slasiug

@) Gu-iiel Asum ]
-y el

(A) woudl vien Yl Sid B

(B) $M &2 (w*g,ouz)‘ Sl B
© sl $2Q (wusgensy) dia &
@ Wl 54 Yl ¢in B

(o, ol sisiellyfe 2icid veaardl

O U IR

A) Rugai (2 ad ydl) w2
(B) HELQUS HI2
(@) iz W

D) Yvd Al3d W2




19.

20.

21.

Lowering of shoulder line is 19.

called :

(A} Puckering
(B) Taper
(C) Cap

(D) Drop

Developing a design draft from a  20.

basic draft is called :
(A) Alteration

(B) Adaptation

(C) Grading

(D) Stitching

Vegetable matter is removed by the 21

process of :

(A) Weighting
(B} Finishing
(C) Carbonisation

(D} Calendering
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22. The following is the first textile

23.

24.

research association to be set up in

India :

(A) BITRA

(B) ATIRA

(C) NITRA

(D) SITRA

Twists of cotton get removed by :
(A)

Parchmentisation

{B) Scouring

G

Mercerisation
(D} Moiring

Bird’s eye is a famous design in :
(A) Jacquard weave

(B) Rib weave

(C) Twill weave

(D) Dobby weave
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25.

26.

27.

Wool is warmér because of this
property

(A) Heat insulation

(B) Heat conduction

(C) Water absorptibn

(D) All of the above

The insulation material recently

used in Refrigerators is :
(A) Glass wool

(B) Fiber wool

(C) PUF

(D) Mineral wool

Activity of hands and fingers is

evaluated by :

(A) Pathway chart
(B) Process chart |
(C) Operation chart

(D) Multi-man chart
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28. Which one of the following is no?

29.

30.

a Human Resource ?
(A) Time

(B) Food |

(C) Skill

(D) Ability

In management process, planning
helps in :

(A) Delegating work

(B} Carrying out work

(C) Estimating available resources

(D) Checking the work

The center-of-interest, which might
be the largest, brightest, or lightest

subject 1s :

(A) emphasis

{(B) contrast

(C) unity

)

repetition
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31.

32.

33.

Throwing temper tantrums can
be considered a normal behaviour

for :

- (A) Pre-school children (3 to 6

years)
(B) Neonates
(C) Infants
(1)) Children with special needs

First stage of Erikson’s theory of

Psycho-Social Development :

(A) Initiative Vs. Industry

(B) Trust Vs. Mistrust

(C) Autonomy Vs. Guilt

(D) Generativity Vs. Stagnation

Dyslaxia refers to difficulties

experienced by children :

(A) in doing substraction and

addition
(B} in memorizing words
(C) in reading and writing

(D) in attention span
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34.

35.

36.

Which of the following worked on
the concept of Burdenless Education

for Young Children ?

(A) Rammurthy Committee

(B) Kothari Commission Report

(C) Yashpal Committee

(D) National Curriculum

Defence Mechanism according to

Freud :

(A) Understanding

(B) Reasoning

(C) Rationalization

(D) Concept formation

To be effective extension work :
(A) should be need based

(B) should be well plannéd

(C) should have government

support

(D) should have enough funds

Home Science-11
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37.

38.

Which of the following stages show
that the target group is ready for

change to satisfy their needs ?
(A) Interest

(B) Desire

(C) Decision-making

(D) Satisfaction

‘Community outreach’ as one of the
functions of Universities aims at

training students to :

(A) Enhance human potential for

social change

(B) Meet the personal needs of the

families in the community

(C) Enhance material well being of

all members of community

(D) Create employment opportunities

for community people
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39.

40.

41.

The most essential of any

development programme is :
(A) creation of resources

(B) infrastructure development
(C) peoples’ participation

(D) creation of leadership

Comunity development programme

empheagizes on :

(A) Individual development
(B) Co-operation

(C) Educational services
(D) Generation of resources

Which of the following is the feature

of globalised media ?

(A) Strengthens inter-community

cohesiveness

B)

Influences local policies

(C} Promotes inter-cultural

relationship

(D) Community based messages

Home Science-11
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42,

43.

44.

The greatest advantage of the

traditional media over the

electronic media is their :
(A) Attra‘ctiveness

(B) Flexibility

(C) Speed

(D) Two-way communication

The surveillance function of mass
communication is performed by

television through the telecast of :
(A) Theme based serials

(B) News

(C) Panel discussions

(D) Personal interviews

Which of the following is the
basic requirement for effective

development  communication

messages ?

(A) Content of the message
(B) Clarity of the message

(C} Familiarity of the message

(D) Organization of the message
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45.

46.

47.

The stability and equilibrium of

classroom communication is

maintained through :

(A) Recapitulation

(B) Feedback

(C) Use of teaching aids

(D) Knowledge of the teacher

The difference between population
value and sample value is known

as .

(A) Error

(B)

Sampling error
(C) Standard error
(D) Standard deviation

An essential characteristic of

experimental research is :
(A) Control

(B) Emphasis

{C) Systematization

(D) Population
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- 48.

49,

50.

Home Science-11

The sampling method that can be
used to draw a representative
sample from the heterogeneous

population is :

(A) Random sampling

(B) Purposive sampling

<) Stratiﬁéd raﬁdom sampling
(D) Quota sampling

The boundaries with which the
study is concerned is termed as :
(A} Limitation

(B) Operational definition
(C) Concept |

(D) Delimitation

Prevalence of AIDS among males
and females in India in 1974, 1984

and 1990 is an example of :
(A) Longitudinal Research
(B} Comparative Research
(C) Descriptive Research

(D} Qualitative Research
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48,

49.

50.
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ROUGH WORK
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